FINAL EXAM EXERCISES  with key                 4                                                         
  
                                                                      Part 1
1. Choose the correct option by circling ONE letter only. (30 points)
	1. Unfortunately, Simone ____ a day off very often.
	a) isn’t getting	b) don’t get	c) hasn’t been getting	d) doesn’t get
	2. ____ your parents ____ of moving out? – No, not really.
	a) Are/thinking	b) Do/think	c) Have/think 	d) Are/think 
	3. ____ you ____ films for the last eight hours? – Turn it off and get some exercise.
	a) Have/been watching	b) Are/watching	c) Did/watch	d) Do/watch
	4. ____ she ____ where she’s going this summer? – No, not yet.
	a) Did/decided 	b) Have/decided	c) Has/decided	d) Is/deciding
	5. When the robbery happened, the security guard ____!
	a) were sleeping	b) sleeps	c) was sleeping	d) is sleeping
	6. I wasn’t sure how Belinda would react because I ____ her long.
	a) hasn’t known 	b) didn’t know	c) hadn’t known	d) don’t know
	7. ____ many lessons Beethoven couldn’t play the violin very well. He was hopeless!
	a) Despite	b) Although	c) In spite	d) Moreover
	8. There were very strict rules but we ____ to wear ties on Fridays.
	a) doesn’t need 	b) mustn’t 	c) couldn’t	d) didn’t have
	9. It sounds like the plane ____ to take off in a few minutes!
	a) will	b) is going	c) can	d) would
	10. If we don’t take action now, we ____ lose a whole world of wonders.
	a) will probably	b) probably will 	c) are likely	d) maybe
	11. My willpower got weaker and weaker and I didn’t ____ to resist temptation.
	a) succeed	b) could	c) was able	d) manage
	12. They didn’t even attempt ____.
	a) apologise	b) apologising	c) to apologise	d) apologised
	13. How long ____ she ____ her motorbike? – Who knows?
	a) does/has	b) has/had	c) is/having	d) did/had 
  14. During the presentation ____ was held at the company’s headquarters, we heard about the latest developments.
	a) who	b) , which 	c) , that	d) where
  15. Robots are machines ____ have a form of artificial intelligence.
	a) , which	b) –	c) that	d) who
  16. When we were on holiday, we ____ volleyball a lot.
	a) have been playing	b) played	c) was playing	d) play
  17. ____ he ____ spend more than two hours on the bus when he was a schoolboy?
	a) Did/use to	b) Does/use to	c) Has/used to	d) Did/use
  18. Who ____ you to become an engineer?
	a) inspired	b) did inspired	c) do you inspire	d) has inspire
  19. Would you mind telling me ____ most admire?
	a) who do you	b) who did you	c) who you	d) who are you
20. If you have faith in something, you ____ in something you cannot prove.
	a) believe	b) believes	c) believed	d) had believed
21. If you ____ him, tell him I’ll call him on Friday.
	a) see	b) will see	c) saw	d) would see
22. If you were able to go abroad for the summer, where ____ you ____?
	a) will/go	b) are/going	c) did/go	d) would/go
23. The crime rate in this area is ____ than in other parts of the country.
	a) highest	b) as higher	c) more higher 	d) much higher
24. This ____ be Sean’s jacket. I’m not sure but I don’t think it’s the same colour and size.
	a) must	b) mustn’t	c) can’t	d) might not
25. ____ the office ____ yet? – No, we’re planning to start doing it next week.
	a) Was/clean	b) Has/been cleaned	c) Will/be cleaned	d) Did/clean
26. He had problems with ____ drugs, and belonged to a violent street gang.
	a) –	b) a	c) an	d) the
27. I would have passed the exam if I ____ some revision last month.
	a) has done	b) had done	c) would do	d) did
28. He was fined $10,000 for his aggressive behaviour. He ____ his boxing skills.
	a) shouldn’t used	b) shouldn’t using	c) shouldn’t has used	d) shouldn’t have used
29. He told us that his job ____ designing adverts for their clients’ products.
	a) has involved	b) involves	c) involved	d) will involve
30. He asked ____ about changing my way of thinking.
	a) if I had thought	b) if I think	c) have I thought	d) will I think


Part 2
2. Choose the correct option by circling ONE letter only. (15 points)
	1. It is a great idea, however, it does have some ____.
	a) goods sides	b) advantages	c) benefits	d) drawbacks
	2. The jury found him guilty and the judge ____ him to 5 years in prison.
	a) accommodated	b) suspected	c) sentenced	d) arrested
	3. He fell asleep as soon as he put his head on the ____.
	a) yellow	b) nap	c) website	d) pillow
	4. Thank you so much, I really ____ what you have done for me.
	a) favour	b) appreciate	c) estimate	d) oblige
	5. My dad has not shaved for 2 years and now he has ____.
	a) a long beard	b) a double chin	c) thick eyebrows	d) curly hair 
	6. Mary is____ because she thinks only about herself and does not care about others.
	a) educated	b) selfish	c) honest	d) embarrassed
	7. Please find ____ two files, i.e. my CV and application letter.
	a) linked	b) written	c) connected	d) attached
	8. The party was awful indeed. It was a complete ____.
	a) failure	b) success	c) deal	d) bargain
	9. Mike ____ his dad to lend him the car for Saturday night.
	a) determined	b) persuaded	c) converted	d) talked
	    10. ____ cars could provide mobility to people with severe physical disabilities.
	a) Sports	b) Diesel	c) Driverless	d) Luxury
	    11. Wood ____ on the surface of water, it does not sink.
	a) swims	b) sails	c) floats	d) drowns
	12. If you can’t get a bank loan, ____ might be a good option.
	a) crowd-funding	b) forest bathing	c) entertaining	d) managing
	13. Jeff Bezos, the ____ of the company AMAZON, is the richest man in the world.
	a) explorer	b) founder	c) reviewer	d) conductor
	14. In most countries when you turn 18 years old, you become ____.
	a) a teenager	b) a film director	c) a scientist	d) an adult
	15. The music was so good that I closed my eyes and enjoyed the____.
	a) soundtrack	b) plot	c) cast	d) environment

3. Put one word or expression from the set below into each sentence. Write the corresponding letter in the table below.  (5 points)

	A) advantage     B) survey        C) goals        D) apologise           E) balanced
1. Setting achievable ____ is an essential part of a good business plan.
2. You’d better ____ for the delay in replying to her letter.
3. After four weeks of following a ____ diet, she felt much better and fitter.
4. I have a feeling he’s trying to take ____ of my kindness.
    5. The ____ found some surprising tendencies among the population.
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4. Match the words on the left with their definitions by putting an appropriate letter    in the table below. (10 points)

	1) bargain
	A) not interesting or exciting in any way, boring

	2) dull
	B) money that is earned after paying the costs of producing and selling goods

	3) confusing
	C) difficult to understand

	4) profit
	D) a device that makes a vehicle go slower or stop

	5) brakes
	E) something on sale at a lower price than its true value
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KLUCZ  4                 

Part 1 (30%)
 (każda poprawna odpowiedź = 1 punkt procentowy)
TASK 1:	1.	D 	6.	C	11.	D	16.	B	21.	A	26.	A	
	2.	A	7.	A	12.	C	17.	A	22.	D	27.	B
	3.	A	8.	D	13.	B	18.	A	23.	D	28.	D
	4.	C	9.	B 	14.	B	19.	C	24.	D	29.	C
	5.	C	10.	A	15.	C	20.	A	25.	B	30.	A
----------------------------------------------------------------------------------------------------------------

Part 2 (30%) 
(UWAGA – TASK 4 poprawna odpowiedź = 2 punkty procentowe)
TASK 2:	1.	D	4.	B	7.	D	10.	C	13.	B	
	2. 	C	5.	A	8.	A	11.	C	14.	D
	3.	D	6.	B	9.	B	12.	A	15.	A
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